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I Analysis of ®:n mnar — dispute X™1/0non/p™ as to which nia9p are invalidated if their o7 is (wrongly) brought inside
a ym-all
b ©non - only nron
¢ R™M -nronand DwR
i Analysis: R™'s reason, as he states, is clear — v. 1 compares Dwx to nxon
1 However: what is n'naon’s reason for rejecting that comparison?
2 Answerl (X37): cannot argue that Y019 L1921 DWR DT - because it isn’t true for n%Y oT; IMIM Hp:
(a) If: n9y, which is 993, isn’t invalidated
(b) Then certainly: owR, which isn’t %93, cannot be invalidated
(c) Block: owR is 1991, unlike nvy
(i) Defense: xom nnan, which is 9931, has no such invalidity (= 1193 is not a cause for application)
(ii) (question: why didn’t he use 91n nroN? Answer: that is an unresolved question of 1ax ")
(iii) Challenge: R0 nMn isn’t a nar (there is no blood = no way for this to be applied)
1. Save: N5y proves the point — it has b7 and isnt invalidated
(d) Result: 10 91N — the common factor — both are 7”p7p and aren’t invalidated by being brought inside
(i) Application: nwR, which is also 7p7p, isn’t invalidated by being brought inside
(e) Question: why not break this nmwn 7% by pointing out that nwy, unlike the other two, has a set value?
3 Answer2:v.2, the invalidity of nkon o7 brought inside, is exclusive (nnT)
(a) Counter (¥™): nn1is there to exclude its meat, not the o7 of other nnar
(b) Response: nn1/o7 allows for 2 mw1T (8™ doesn’t consider that to be significant)
d  Observation:
i Clear: we understand why v.1 compares nnn to both nxon and nwk according to 1117, as per v™:
1 ~vin o like nron = if the n¥'np was done NNWY RYW, invalid
2 a7 nnaz like nwr = if the n¥mp was done WYY RYY, valid
ii  Unclear: why v. 1 compares nmn to both nwry nron according to 8™
1 Answer: per other ruling of (1:3 mmin) v™ — if the nnian 7w became &Y not in the n7v 93 (e.g. in the hand),
o'non invalidate and W™ maintains 7w3; as he reads v. 1 as allowing nnin to be performed either with (right)
hand (like nxon) or with a *93 (like DWR — using left hand)
2 Challenge: how can ™ use the same poa for 2 mwa7?
(a) Answer: uses it for the latter one; he infers former ruling from common X’n (1NN NRYN::RVIN MNIN)
3 Note: according to 1329, why is DWR compared to NRON (DWRI NRVND)
(a) Answer: just as NRON requires NNV, so too does DWR require 12’0V
II  Analysis of ‘2 mwn: opinions of »1n 12 70y and 771y 'NR YNY (above, p. 1)
a N " 8" has same approach as »n 2 oy,
b na7: ®™ only invalidates a j27p brought noa nw5:
i xpma:if a noa “aged” (past 1 year) or another 127p was brought noa w5 — 1nra:x" invalidates; ywin> 7 validates
1 yory
(a) If: inra 5w, when nva brought (properly) is %108, yet brought 1nw5 85w is a valid 0ynHv
(b) Then: ynra, when noa brought 1mw5 is valid, certainly noa nw5 o*nR are valid
2 N7 invert reasoning, leading to reduction ad absurdum
(a) If: other times, when 1nw% noa is invalid, but 1nwY RX5w is valid (as DnYW)
(b) Then: ynra, when 1wy noa is valid, w5 89w should be valid (as 0'n>w) — which is wrong!
(i) Self-block: the reason that others noa nw) are valid 1anra X5V is reciprocal — 11112 RYW Noa is a valid
DY if brought 1nwH RHW; but 1WH KW N1 noa is invalid > others brought 1nra 1wy are invalid
3 ywyp /7. that line of reasoning makes n'n%w more “sensitive” than noa (and the opposite is true)
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4 N71(2nd lines of reasoning):
(a) Premise: noa a1mn becomes nnYw, but not the inverse
(b) If: noa amn becomes oY, yet onrw nwY nnra noa is invalid
() Then: on%w Imn which do not become Ny, certainly noa nw> Noa nra wnd>w are invalid
5 YT,
(a) premise: nRVN IMN becomes an Ny, yet not the inverse
(b) If: nRYN MmN becomes an N2y, yet N7 DW5 NRYN is Y109
(c) Then: n%y 9mn which does not becomes nxvn, certainly nxon nwH N5y should be s (but its not)
6 N7 counter to above
(a) rpAvmis M5 W1 all year, unlike noa which is invalid if brought 1w outside of its jnr
(b) Therefore: since it is 10WY 9109, others brought noa nw? should be 5105 as well
III  Analysis of end of "a mwn: Ny 'NR PYnw’s hierarchical system
a  Source (711 101 *N2 77): v. 3 = only that which is ‘higher’ is valid
i Challenge: this verse is needed for a different nwT:
ii ~ S81pw: source for mnY 11 nrn avn for eating Y20
1 Interpretation: 1> 9WR nR (in the future tense) — referent is things which have yet to be o7 (=52v)
2 Defense: if all it meant to teach was our nw11, would have stated 11 n (past tense); 177’ teaches both
b Nvr’7s question:
i Does: 13ty "R 1ynw claim that if brought for higher class, they are valid — but not n¥1n
1 In which case: he disagrees in one area (about invalidity of one brought for lower class)
ii  Or:does he claim that if brought for higher class it is n¥n,
1 In which case — he disagrees on two fronts
iii  Proof from our 73wp(7728):79ym 721 brought as 0nbw are 7w3; wnYY brought as 9wym M1 are Y108
1 But: 131 has no »¥7; since first case is w/o %7, so is earlier case (1"pTp DY Y"p1p)
2 Block: perhaps each case works within its own parameters; where »¥7 applies, it may still hold
(a) Rather: what is the purpose of mentioning wym 7131?
(b) Answer: to teach that hierarchy also exists within nnbv
(i) Challenge: this is taught later — D'n%w precede 7133, as they have n’5v1 ,13'nv and w1 N nann
(ii) Answer: our case is the main locus of that information; the other is incidental
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